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MATRIC EXAMINATION
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Total Questions: 30 Total Printed Pages: 08
[Full Marks: B0]

[Time: 02 Hrs. 45 Minutes] o

el @ 32 A

Instructions for the candidate:

. el zer W orad vt A @ g 7Y

Candidates are required to give their answers in their own words as far as

practicable.

2 afh sk @it w 23 gy sw Qs ARe v 8

Figures in the right hand margin indicate full marks.
3 o v afRad B

All questions are compulsary.
¢ o 23w qOunl qur we— i 1 e &

While answering, the candidate should adhere to the word limit as far as

practicable.

5 3% v 97 ¥ vgd @ 2 15 Pae @7 aRE i Rar mar &)

15 Minutes of extra time has heen allotted for the candidates 1o read the questions.

[203] Page 1 of 12 (Turn over

woo ApnIsqasq-mmm//:dny



wod Apnysqasq mma//:dny

wir Ydy
General Instructions;

(i)

(ii)

(1ii)

(iv)

(v)

(vi)

wra-ux ah gol & aforr & freny ot 30 wEr Ry w81 gu- A o gu-n
)RR 20 3B gy - C oy q = 0 ¥ gehw 17 o e yu - I N 6 yw
il &

The question paper is divided into five Groups, in which there are 30
questions in all, Groups A and I carry 20 marks each, Groups C and D) carry

17 marks cach and ( sroup I carries 6 marks.

1 9T & 4wy ) 3} ave @ ger Ry o @ - ag dxfoqw oite Rerr vl @) gfefy
It wwik # gere wrr-az F Ro 70 A ¥ 3 e foramr & Rar vl
# 9RY o — ywerm @ srpar v wek g wew 8

I mark questions are of two types — Multiple choice and Fill in the blanks.

The answers of the Multiple Choice guestions are to be selected Jrom the

options given in the question paper. Fill in the blanks with appropriate words

according o the textbook,

2.9% @ ol wvr 3y &y ey &1 wRE q¥T I IR YW 20 W) F S
2/

2 marks questions are all Very Short Answer type. Answers of these questions

should not exceed 20 words each.

3 AT 4 ST B Wl AT qY AT &) AE 7 3 TI JRFTT 50 JA 60
vt o dar &
3 marks or 4 marks questions are all Short Answer type. Answers of these

questions should not exceed 50 or 60 words each.

6 e 7 Yol @ Wt mer D g @) adE v BT TOY AT 100 T
120 ot o a1 8/

6 or 7 marks questions are all Long Answer type. Answers of these questions
should not exceed 100 or 120 words each.

grfeA & waf ge a1 aav Adoger da @)

The questions related to the maps are to be answered as directed.
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R/ HISTORY
AT : 20/ MARKS : 20

mmm.;mmur-ﬂnmmm.ﬁ_

Choose the most appropriate option in the following multiple choice question:
¢ o va e @AY @ s Fa far?

(v) afrh
() fRew
Ui fauns
() Rfgm
“Blood and Tron” policy was adopted by -
() Mazzim '
(by  Hitler
(c) Bismarck
(d) William
2 fufan - & R w9 gur?
(#) 1967
(i‘;l) 1764
(m) 1
(®) 18
When was spinning jenny invented?
() 1967
(b) 1764
(c) 1773
(d) 1775

(1)

—
-
St
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) w @ R wra @ gfd 53 -

Sreiu i iR 00 O R A o § =

Fill in the blank with appropriate word:

Minimum Wages Act was implemented inthe year. ....................
a1 A Re v # off 71

sfsar A 8 few e

Fill in blank with appropriate word:

InOdisha, .................... wasopposed In .........ocoennn
Pt o @1 S s0 A 60 T A 2

A d A 3@ A i B oy gaE A R
Answer the following question in 50 to 60 words:

Coal and Iron Industry gave a boost to industrialization. Explain.
Bt e 1 v 50 W 60 vt A 2

w2 iy @ 58 2 srot @1 ooty B

Answer the following question in 50 to 60 words:

Descnbe any two reasons of Russian Revolution.

fe=1 e o1 TR S0 R eo TRT A 2

a8 fdea A ey NRIEA H e @) $8?

Answer the following question in 50 to 60 words:

Lord Linton gave progressive activeness to National Movement. How?

(1

(1)

6)

6)

Q)
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N wed @t QR 100 A 120 TR AL

nedaae ) ufhen A ) al, wan ad wd wonge ik ay yfva ) ot we @)
Answer the following question in 1010 120 words:

Discuss the mole of business class, middle ¢lass and labour class in the process of
uthanization,

PITAIRY B BRI Ay B o ¥ HE ard uRadt ) wre @y

Describe the changes due to globalization in common man’s life.

J9-4/GROUP - B

b : 20/MARKS : 20

Prerfia agResta wwl ¥ ¥ @ Ree o -
?ﬂ the most appropriate options in the following multiple choice questions:-

7 e e Rrar s @t 8 (1)
(®) TR WeW
(|) IR

(m) @ew

(w) 99

Among the following, where is soil found in vastness?
(a) Uttar Pradesh

(b) Rajasthan

(¢) Karnataki

(d) Punjab
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o e aeftm @t A8 uned maer W e

(q) " U A

(eq) WRNET

() e

(u) e N

Which is the most important raw material of cement mdustry?
(a) Lame stone

(b Bauute

(¢} Granite

(d) lron ore

TR AR (AR R EC AR e o ufd a2
() W0 S TE anemsn qog § (R B

Eicu RS

(i) WRO R DS A1 wp aaree
Fill in the blanks with appropriate words:
(1) Mathura il refinery is situated in ................ state.

(1) e state is major producer of coal in India.

12 B 0F ® IR a2 w3 2

Answer the following question in about 20 words:
QIPIA® [AN &7 wwarwr @@ wrged &

Why conservation of Natral Resources is necessary?
/ .
13/ ¥ 9% &1 JER 50 N 60 WY A 2

Answer the following question in 50 to 60 words:
yRdta e arazen ¥ G @ aw e &2

What is the importance of agriculture in Indian cconomy?
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nqumumsoﬂmndl#t

4
Answer the following question in 50 to 60 words:
ay He A g emgry B2 gy A gya - ata M e rrrd oAt aph ¥/ o)
\What do understand by Alluvial soil? Which crops can be grown in this soil?

i foymy gver @1 U 100 A 120 vt A 2

Answer the following question in 100 to 120 words:

ﬂT'l lT"n"-" "ﬁ U'[f“l iﬂ'ﬂ"“l’ -':ﬂ\ﬂ llff 1’"4 T,,l wWrEt ﬂ N ‘r.:-:.r rf’-' n’rﬂ fﬂ .""
(1)

faaed
Describe the main ge
producing states in Imlia

ographical conditions of Tea cultivations Name any three tea

T/ OR

Al I+ i 1 o . b L
rI'; yw wre N tE dan A fory wnwe fasdddne 3 Sra MMy 12

(m) WAL WTE OB |
(e} YEETN

(n) Wi

) @l fad) = v

(8) [dvnemagem
Draw a geographical map of India on full page and matk the following

(' Rice producing area hitp://www.bsebstudy.com

(i) Kolkata
(i) Chennai
vy Black sl arca

(vt Visakhapatnam
T/ OR

daa Al v @ 1&g

Only for blind candidates:
R A arn ) A4 vt 8

1)

Descnbe cultivation of Tea in India
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-3/ GROUP - C
TR Rt/ POLITICAL SCIENCE

U 17 /MARKS ;.17
Prerfda wgeaha w4 & wh e ™.

Choose the most appropriate option In the following multiple cholce questions:

16 MW B0 107y @ o a9 v wd) oy qgra then anr? (1
(@) ana wd )

(@ W wd

(M @nee mb

(@) R @ ay g

Which political Party got the majority of votes in the general election of 1977 in
India?

(1 Congress Party

(i) Bhartiya Janta Panty

(iv) Communist Party

(v) None of the Parties

17 AR N NN W OE suRum Q-

—
—
o

(®) AT & A au

(@ wgfea

(m s waa

(@) smaar

Bad result of the beliel of regionalism is -
(1) Autachment to your region

(i) Nationalism

(1) National unity

(iv) Separatism
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18

19

21.

Ay w1 IR 20 TR A &

Answer the following question in 20 words:
rd P T A s &7

What do vou undenstand by secular state?

iy Wy 1 IR 50 A 60 R A

Answer the following question in S0 to 60 words:

nm#aﬁmaa‘,wﬁtﬂm\mﬁmwﬂ&aﬂ &?
How do you see the future of democracy in India?

e rE s I de TR A T

Answer the following question in 50 to 60 words:

sTaFaE dieaz # geAd &) a2
Terrorism is a challenge for the democracy. How?

Prey we @7 IR 100 ¥ 120 TRAT X ¢

Answer the following question in 100 to 120 words:

aFAfas zet & wa |

Write about the main functions of political parties.
JYar/ OR

Fm fhen 1 apma daaa @ fag g ﬁ?

Is lack of education a challenge for democracy?

@

(3)

@

Y

)
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qu-% /GROUP - D
stfurE / ECONOMICS
B 17/MARKS: 17

Prerifn agfdwcda vt 4 wh R g4 -
Choose the most appropriate options in the following multiple choice questions.
22 fan 20 @ ey ym ufvs o @ g A0 am reanm @ (1)
() afdatha
() AFfae
(m) wad Ratha
(1) g ang M
A country whose national income 14 high 1< called
(a)  Underdeveloped
(b)y  Developed
() Developing
(d) Nonc of these
23 WEM BB s B A o e mfas e oom 80

—
-
St

(®) ¥m

(4) TwrE I

(M) R a

@ & g ad

Which among the following is included 1n direct tax?
(a) Income tax

(b) Excise tax

(c) Sales tax

(d) None of these
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25.

3

S

Prrmamomanmao w1

Answer the following question in about 20 words:

@

T WY IO g 22

What is gross domestic product?

P=1 ot ITe s0 A eo wRI A 2

Answer the lollowing question in 50 to 60 words:
Rl aifda al qaa W) ) ot A ) A onfa el &2 (3)
What influences o person’s wish for savings?

Pt vt &1 owR so A eo TRY H 2

Answer the following question in 50 (o 60 words:

Rt ziwenat A 3 an o 87 ap AR SwR @ 8 87 ()
What do you understand by financial institution? How many types of financial

institutions are there?

Pt e &1 IR 100 9 120 WRI A A
Answer the following question in 100 to 120 words:
fer @ affs Redm & Fr FrRu & 3okt w7 @
What arc the reasons for economic backwardness in Bihar? Explain.
JAUar/ OR
ST B P A IRTR 8 W @)

What arc the rights of a consumer? Explain.
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qu-¥% /GROUP - F,
HTIET WqA-| — HD — 6
DISASTER MANAGEMENT - MARKS - 06

frenfn wgREEfa o=l ¥ W e g -

Choaose the most appropriate option in the following multiple choice questions:
28. M A B uafa ager A &2 R

(@)
@)
()
(W

LRl
e
&Y
ATTFATE

Which among the l‘ullmn-ing is not a natural disaster?

()
(b)
(c)
(d)

29, @ fR1 wwR WY ey @ ()

@) wEsfE amer
(@ wra wfva sy

()
@)

What type of disaster is Drought?

(a)
(b)
(c)
(d)

Tsunami
Flood
Earthquake
Terrorism

HH AT
g 1 I B (A T

woo Apnisqasq-mmm//:dny

Natural disaster
Manmade disaster
General disaster
Nonc of these

30. = W &1 IR 50 A 60 MR F 2 ¢

Answer the 'fnllmwing q'ucstinn in 50 to 60 words:
G B BV T G AN Jurg F a0 FY ()

Explain the reasons and safety related measure for floods.

e e S http://www.bsebstudy.com
Whatsapp @ 9300930012
Send your old paper & get 10/-

(203]

Fgar gqu=r Oad o 3R 10 sud o,
Page 12 of 12 Paytm or Google Pay &



